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Wed Sep 2 14:43:24 2020 wiggle plot,pj=2,fname=predict path(),psname='pj2 wig jrm09.ps’,
td=9.3d,pd=204.2d
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Wed Sep 2 14:46:38 2020 wiggle plot,pj=3,fname=predict path(),psname='pj3 wig jrm09.ps’,

td=9.3d,pd=204.2d
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Wed Sep 2 14:48:29 2020 wiggle plot,pj=4,fname=predict path(),psname='pj4 wig jrm09.ps’,
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td=9.3d,pd=204.2d



Wed Sep 2 14:55:55 2020 wiggle plot,pj=7,fname=predict path(),psname='pj7 wig jrm09.ps’,
td=9.3d,pd=204.2d
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Wed Sep 2 14:57:29 2020 wiggle plot,pj=8,fname=predict path(),psname='pj8 wig jrm09.ps’,

td=9.3d,pd=204.2d
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td=9.3d,pd=204.2d
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Wed Sep 2 15:02:14 2020 wiggle plot,pj=10,fname=predict path(),psname='pjl0 wig jrm09.ps’,

td=9.3d,pd=204.2d
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td=9.3d,pd=204.2d
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td=9.3d,pd=204.2d
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Wed Sep 2 15:08:54 2020 wiggle plot,pj=13, fname=predict path(),psname='pjl3 wig jrm09.ps’,
td=9.3d,pd=204.2d
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td=9.3d,pd=204.2d
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td=9.3d,pd=204.2d
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td=9.3d,pd=204.2d
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Wed Sep 2 15:18:38 2020 wiggle plot,pj=19,fname=predict path(),psname='pjl9 wig jrm09.ps’,
td=9.3d,pd=204.2d



Wed Sep 2 15:20:19 2020 wiggle plot,pj=20,fname=predict path(),psname='pj20 wig jrm09.ps’,
td=9.3d,pd=204.2d
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Wed Sep 2 15:22:21 2020 wiggle plot,pj=21,fname=predict path(),psname='pj2l wig jrm09.ps’,
td=9.3d,pd=204.2d
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td=9.3d,pd=204.2d
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Wed Sep 2 15:26:46 2020 wiggle plot,pj=23,fname=predict path(),psname='pj23 wig jrm09.ps’,
td=9.3d,pd=204.2d



'\57 \ \ \ \ \ \ \ \\0\ \
L /\(L
10—
I 14 ]

—15— 5 —
, o]

—20 L1 a0
0 5 10 15 20 25 30

Wed Sep 2 15:28:18 2020 wiggle plot,pj=24,fname=predict path(),psname='pj24 wig jrm09.ps’,
td=9.3d,pd=204.2d
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Wed Sep 2 15:29:54 2020 wiggle plot,pj=25,fname=predict path(),psname='pj25 wig jrm09.ps’,

td=9.3d,pd=204.2d
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td=9.3d,pd=204.2d
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Wed Sep 2 15:32:46 2020 wiggle plot,pj=27,fname=predict path(),psname='pj27 wig jrm09.ps’,
td=9.3d,pd=204.2d
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Wed Sep 2 15:34:28 2020 wiggle plot,pj=28, fname=predict path(),psname='pj28 wig jrm09.ps’,
td=9.3d,pd=204.2d
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Wed Sep 2 15:36:03 2020 wiggle plot,pj=29,fname=predict path(),psname='pj29 wig jrm09.ps’,

td=9.3d,pd=204.2d
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Wed Sep 2 15:37:43 2020 wiggle plot,pj=30,fname=predict path(),psname='pj30 wig jrm09.ps’,
td=9.3d,pd=204.2d
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Wed Sep 2 15:40:43 2020 wiggle plot,pj=31, fname=predict path(),psname='pj31l wig jrm09.ps’,
td=9.3d,pd=204.2d
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Wed Sep 2 15:47:57 2020 wiggle plot,pj=32,fname=predict path(),psname='pj32 wig jrm09.ps’,
td=9.3d,pd=204.2d
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Thu Sep 10 16:11:59 2020 wiggle plot,pj=33, fname=predict path(/extend),psname='pj33 wig jrm09.ps’,
td=9.3d,pd=204.2d
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td=9.3d,pd=204.2d
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Wed Sep 2 12:50:03 2020 wiggle plot,pj=35,fname=predict path(/ext),psname='pj35 wig jrm09.ps’,
td=9.3d,pd=204.2d
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Wed Sep 2 12:51:08 2020 wiggle plot,pj=36,fname=predict path(/ext),psname='pj36 wig jrm09.ps’,
td=9.3d,pd=204.2d
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Wed Sep 2 12:57:352020 wiggle plot,pj=40,fname=predict path(/ext),psname='pj40 wig jrm09.ps’,
td=9.3d,pd=204.2d



—ZO\\R\)\\\\\\\\\\\@\\\\\M\\\\\\\\

Wed Sep 2 12:58:59 2020 wiggle plot,pj=41,fname=predict path(/ext),psname='pj4l wig jrm09.ps’,
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td=9.3d,pd=204.2d
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Wed Sep 2 13:04:07 2020 wiggle plot,pj=45,fname=predict path(/ext),psname='pj45 wig jrm09.ps’,

td=9.3d,pd=204.2d
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Wed Sep 2 13:05:22 2020 wiggle plot,pj=46,fname=predict path(/ext),psname='pj46 wig jrm09.ps’,
td=9.3d,pd=204.2d
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td=9.3d,pd=204.2d
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Wed Sep 2 13:07:55 2020 wiggle plot,pj=48,fname=predict path(/ext),psname='pj48 wig jrm09.ps’,
td=9.3d,pd=204.2d
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Wed Sep 2 13:10:052020 wiggle plot,pj=49,fname=predict path(/ext),psname='pj49 wig jrm09.ps’,
td=9.3d,pd=204.2d
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Wed Sep 2 13:11:11 2020 wiggle plot,pj=50,fname=predict path(/ext),psname='pj50 wig jrm09.ps’,
td=9.3d,pd=204.2d



Wed Sep 2 13:14:53 2020 wiggle plot,pj=51,fname=predict path(/ext),psname='pj51 wig jrm09.ps’,
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Wed Sep 2 13:17:06 2020 wiggle plot,pj=53,fname=predict path(/ext),psname='pj53 wig jrm09.ps’,
td=9.3d,pd=204.2d
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Wed Sep 2 13:22:21 2020 wiggle plot,pj=54,fname=predict path(/ext),psname='pj54 wig jrm09.ps’,
td=9.3d,pd=204.2d
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Wed Sep 2 13:23:32 2020 wiggle plot,pj=55,fname=predict path(/ext),psname='pj55 wig jrm09.ps’,
td=9.3d,pd=204.2d
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Wed Sep 2 13:24:58 2020 wiggle plot,pj=56,fname=predict path(/ext),psname='pj56 wig jrm09.ps’,
td=9.3d,pd=204.2d
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Wed Sep 2 14:14:28 2020 wiggle plot,pj=66, fname=predict path(/ext),psname='pj66 wig jrm09.ps’,
td=9.3d,pd=204.2d
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td=9.3d,pd=204.2d
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Wed Sep 2 14:24:05 2020 wiggle plot,pj=70,fname=predict path(/ext),psname='pj70 wig jrm09.ps’,
td=9.3d,pd=204.2d
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